o(d dxy) (cm)

107

Ratio

o(d @) (rad)

0.54%

<.

0 1 2 3

o(d dz) (cm)

Ratio

L

.........................

TRTuRTn nIpTnipta] TT T 1T

........................................

—=— DQM_V0001_RO000000001__Global__mkFit_baseline
—e— DQM_V0001_R000000001__Global__mkFit_var

.........................

......................................

2 l : : : <+
------- focllocoeclletiocanocncachoocna ol

0 1 2 3
TP ® (PCA to beamline)

o p_/p.)

1071

1—

: : R
RN N | — -
Lo |
g :

_é' """""" |"I """"" i B Hill Hi 0

0 1 2 3
TP ® (PCA to beamline)



	Contents
	Page 1


